Evaluar Expresiones (D)

Evalue cada expresion usando los valores dados.

1. 10+10%-a+ (6 —3) sca—u=+(u+v(w+2)) 9 (1+10—y) o

(a=3) (a=1lu=1,v="17) (2410-9)
(y=9)
2. x-28 = (z+3%) 6.3c+(c+2)-c+u
(x=3,z=17) (c=7,z=3,u=3) 10. 4y+a—y(z—z)

(y=10,a=9,z=238)

Ch—aean?) 7 b—z(10+b)—10+b vt —
3 ((61(3_ 5(4 ))) (b= 10,z = 6) 1. ?)f:(ly,j:)lo,(zzizz))
2 22(9—2)-z+v= 8. (7T—2)+(5-7T+x—a) u=3+u=-(c+b)-3
! fz<:96,\zz)=z9) - (a=9,x=10,z=4) N (c:;b:g,::)S)
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Evaluar Expresiones (D) Respuestas

Evalue cada expresion usando los valores dados.

1. 10+10%-a+ (6 —3) ssa—u=+(u+v(w+2)) 9 (1+10—y) o

(a=23) (a=lu=1,v=7) (2+10-9)
! _23 (y=9)
10 24 _2
3

A 5 6. 3c+(c+z)-c+u
2.Xx-2 —(Z‘|’3) (c:7’Z:3,l/t:3) 10. 4y+a—)’(Z_Z)
(x=3,Z:7) _49 (y:107a297Z:8)

=10 20

4
W3 7.b—z(104+b)—10+b 11 52— (y+a)—(z+7)
3. ((3 (4 a.a))) ( = OZ:6) (y:l)a:l()jz:l())
a=5) =79 =22
=0
8. (7T—2)=(5-7+x—a) 122u+3+u+(c+b)-3
4.2:(9—2)-z+v+z (a=9,x=10,z=4) c=3,b=1u=28)
(z=6,v=9) 1 6
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